f:=50 w:=2-m-f

Pacuet TpaHcdopmaTopa

Cuctema

m 3

E,, = 10500-Y2 _ 8573 10°
V3

Rs:=05 Xs: =25

om0

180

Ls := Xs _ 7.958x 10 °

w
TpaHcdopmaTop
Kmax = ]];mag Kmax := 1.2 lMapameTtp oTBeYaeT 3a BenuumHy 6TH
pa
3 SHOM
Upyor = 10500 Shon = 3150% 10 uk = 5.5 I, =12 Loy == —=———
\/_3'UH0M
U 2
1| 100
Ly=—|— TOM 1= 9284 APk := 26300
w IX Sl-lOM
2 2
U U
1|1 uk — 1
Ly = —| 2o 2 | 3064x 107> R = — APk — _ (146
w {2100 Sy, 2 S
R—Rs+Rt L:=Ls+LO.
1 2
U= Kmax~UH0M~£ = 32.747
w V3
Ly (L) T
U(i) := ¥, -tanh| ——-i d¥ di(i) :=L,,-| | —tanh
L - K o
407
5x10°t
201
i) : : | L) , , !
-10 =5 0 5 10 V2 _l10 5
=20r
=40+

BAX no aencTByrLIMM 3HAYEHUAM

V2



Bbluncnenusa
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PacyeT Toka K3
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E := = 6.062 x 1()3

Em
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Z:=R+2Rp+j-w(Ls+2Lg) = 0.938 + 4.425i
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N := round L =5x 1()3
f-dt

n« 0
for ke 0.. nmuna(f)
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if ﬂoor[k—}kdec =k

DECIMATE(f  kge) =

dec

VAL, < fi

n<n+1

return VAL

RMS(v,t,N,f) := | for ne0.. ymuna(v) — 1 — N

n+N-1

VALy < % Z [(Vk)z—l

k=n

return VAL

TIME(t,N) := | for n€0.. gmuna(t) - 1 — N

VALp < ty
return VAL

N =20

req Yucno oTcHeToB Ha nepuog

N
kdec = ﬂoor(

=250 LWar geyumaumn
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igec = DECIMATE ik ¢c)

tdec = DECIMATE(t,kge,)

DFT(v,t,N,f) := | for ne0.. mmHa(v) — 1 - N
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N Z k
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return VAL
ABS(v) := | for n€0.. gmuHa(v) — 1
VALn<— |Vn|
return VAL
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IpFT = T'DFT(ldec’tdeC’Nreq,f)

IDFT.abs = ABS(IDFT)

600
IDFT‘ abs

Tppr = TIME(,N)

IRms = RMS(idecatdec,Nreq,f)

IRMS.abS = ABS(IRMS)
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